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x = ±(αn2n + αn−12n−1 + · · ·+ α020 + α−12−1 + α−22−2 + · · · ),
αi = 0 ���� αi = 1,
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� )������%

�������� �� (t = 4)

rd(0.14285100) = 0.1429100

rd(3.14159100) = 0.3142101

rd(0.142842102) = 0.1428102
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|a| = 0.α1α2 . . . αtαt+1 . . . , 0 ≤ αi ≤ 9, α1 �= 0.
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{
0.α1α2 . . . αt  
��	 0 ≤ αt+1 ≤ 4,
0.α1α2 . . . αt + 10−t  
��	 αt+1 ≥ 5,
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r̃d(x) := sign(x) · a′ · 10b.
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��"�� >����� "�� r̃d(x)∣∣∣∣∣ r̃d(x)− x
x

∣∣∣∣∣ ≤ 5 · 10−(t+1)

|a| ≤ 5 · 10−t
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|a| =  .α1 . . . αtαt+1 . . . , αi =  ���� αi = �
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a′ :=

{
 .α1 . . . αt  
��	 αt+1 =  

 .α1 . . . αt + 2−t  
��	 αt+1 = L

r̃d(x) := sign(x) · a′ · 2b.
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�! erd(0.3179410110) = 0.317910110 �∈ A

$! erd(0.999971099) = 0.100010100 �∈ A

�! erd(0.01234510 ± 99) = 0.123510 ± 100 �∈ A

%! erd(0.5432110 ± 110) = 0.543210 ± 110 �∈ A
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2 ��� �2 �
�� �
� 	�
� ���
� ��� &�H��������

rd(0.01234510− 99) := 0.012310 − 99 ∈ A
rd(0.5432110 − 110) := 0 ∈ A1�%�%32

"�� ����� �$/�����������
� ������� ��
� �
�� ����  !� rd 	�
�� r̃d ��
�� ����
1�%�%�2� ��� ���
��"� >����� "�� rd(x) �
�� ��5		�� 
�	 eps 	���S (��� *�
���
�0
�
��� ������ ����� �$/�������!����
� 
�	 >�����% ��� �$/�������������
� 
���� 1�� ��� *����2 ��
�� 
�	 >����� ��������� 	������ �	 ���� rd(x) ,��0
��
� ��� �� 4��	/��� 1�%�%32 ��������% I� ��� !������ >,����� r̃d(x) ∈ A� ����
���5����
� 1��
�� ��� 
���� (��
���S2 rd(x) := r̃d(x) 
�	 *������ ��������%
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&
 �$/�������!���0 ��� 0������,� � "���,����	�,		�� 	������ �������		�
	��� 1��� ��� �������� (��
��� �	� e 
�	���
���� ���		2� ��� �
� !������	
���
� ��������� -�	�
������� ��� &
��� "�������� �
��� ������ ���  !� ���
 ������� &�	��		��� ��� ���
��	����� (��
��� e =∞ �

���� 	� �
		  !� ���
*������	
�������� rd := r̃d ����

rd : R → A,

rd(x) = x(1 + ε) ��� |ε| ≤ eps  !� 
��� x ∈ R.
1�%�%82

&�����	/��
���� ���� ��� ��� �!� ����� 4��	/����� ��� ��
� ��� �
���	0
	���,��� t 
��������% �
� ��

���� �
		  !� e �= ∞ ������ ���  ��������
(�		
��� !��� *������	 ����� �� >
��� "�� �$/�������!���0 ���� 0������
� 
��
�� ������%

&
 �
	 *�	���
� ����� 
��������	
��� 7/��
���� x ± y� x × y� x/y ��
��
���� �
	
������
�� 	��� ��		� 	���	� ���� �	 ��� 7/��
���� x ��� y 	����
�
�� �
� ��
�� ���
����� �
		 ���	� 7/��
������ 
� ����� *�
���� �$
��
��
��	���� 	���% ��
�� ��� �$
���� 7/��
������ +� −� ×� / ������ ��	
��0
�/��
������ +∗� −∗� ×∗� /∗� 	��% ����������
������
���� 
��������� ��� ���

��������	
��� 7/��
������ �5���
�	� ��� 
//��$������� 1"% ����
�� 
��
'���	���� 1��8�22% ���
�� ��	
���/��
������ �
�� �
� ���
 ��� <�� � ���
*������ 	� ��H������F

1�%�%92

x+∗ y := rd(x + y)
x−∗ y := rd(x − y)
x×∗ y := rd(x × y)
x /∗ y := rd(x/y)

 !� x, y ∈ A.

�	 ���� �
�� ����� 1�%�%82

1�%�%:2

x+∗ y = (x+ y)(1 + ε1)
x−∗ y = (x− y)(1 + ε2)
x×∗ y = (x× y)(1 + ε3)
x /∗ y = (x/y)(1 + ε4)

|εi| ≤ eps.

4�� ��� �������� (��
��� 	��� ��� '����/�����/��
������ ±∗, . . . �,�H�
��
�� ���
� ���
� 1�%�%92 ��H������ ��
� �� 
���� *���� 	�� �
		 ��������
1�%�%:2 ��� �"������� ���
	 	
���
������ �
��
���� |εi| ≤ k · eps� k ≥ 1 ����
������ D
��� ����% &
 ���	  !� �
	  ������� ����	�����
� �	�� ������ ��� ���
��� 

����� �
���� 
�� �
		 ��� '����/�����/��
������ ���
� 1�%�%92 ��H�����
	��� ��� ��	�
�� ��� �����	
�
 � 1�%�%:2 �
���%

�	 	�� �
�
� ��������	��� �
		 ��� '����/�����/��
������ ��
�� ��� !�0
��
��� '�	����� ��� 
��������	
��� 7/��
������ ���!���% �� �	� �%4%

x+∗ y = x,  
��	 |y| < eps
B
|x|, x, y ∈ A,

����� B ��� 4
	�	 ��	 D
��	)	���	 �	�% &�� �
	
��������
������� eps �
��
�
� �%4% 
�	 ��� �����	�� /�	���"� �
	
������
�� g ��� 1 +∗ g > 1 ��H�������
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eps = min{ g ∈ A | 1 +∗ g > 1 ��� g > 0 }.

>����� 	���  !� ��� '����/�����/��
������ ��� (		���
��"0 ��� &�	�������"0
��	����  
�	
�%

�������� 
� (t = 8) ;J�

a := 0.2337125810 − 4

b := 0.33678429102

c := −0.33677811102

����

a+∗ (b+∗ c) = 0.2337125810 − 4 +∗ 0.6180000010 − 3

= 0.6413712610 − 3,

(a+∗ b) +∗ c = 0.33678452102 −∗ 0.33677811102

= 0.6410000010 − 3.

2�� 	H�6�	 E	������ ���

a+ b+ c = 0.64137125810 − 3.

�
� 

��� 
� ��� >
�� ��� *�	�+	����� ��� ��� �����
����� "�� D
����
x, y ∈ A� ��� �
	 ����
�� +�����
��� �
���F &��	�� >
�� ����� "��� ���� ���
D
���� x� y� ��� �� ��� 4��	/���

x = 0.315876101
y = 0.314289101

&
�	��������� 1�%�%�2 ��� ��� ����
��� �$/������� ��	����� ��� ���� ����
�������  !������ D�C��� �� ��� �
���		�� !������	������% 4�� ��� �����
�0
���� x−y ����� K(�	�5	
����L ��� ������	
���  !������� D�C��� ��� �
���		�
���� �
	 �$
��� *�	���
� x− y �,		� 	�
� 
�	 �
	
������
�� �
�	������� 	� ���
x ��� y �
	
������
���� �
���� 	� �
		 ��� ��� (�	 !����� ��� �����
�0
���� ���� ����� *������	 ����� 
� ,���F x −∗ y = x − y% I� ���	�� ����� �	�
��� �����
����� �� >
��� ��� (�	�5	
���� ���� 	��� �
����	� 7/��
����% =��
������ @���
� �� �,
�	��� (�	
����� 	����� �
		 �� >
��� "�� (�	�5	
����
���� 
�		����������
� �� ,����
�� ����
���� "�������� �
	 ��� >���/�
�����
��� ����� >����� 
������ ��� �
� ��� ��� 4���
����� "�� x ��� y ������	 �
�
(�	 !����� ��� �����
����� x− y ���
���� �
�%

>!� �
	 �������	 "�� '����/������
������� �
� 	�
� ���� ��P���� 
���
���
	 ��/�,��	� �
��������	� ������!������ ��� ��� ��  �������� 5 ���	 ��0
������ ������F �����  !� ����� 
��������	
��� (�	���
� E  �	�� ��� �� ����
�0
��� ������ 	��� 1���	 ���� �"��% ���
� ��������� .�
������� "����	
�������2�
	� ���� ���
� gl(E) ��� =��� ��	 (�	���
�	 �����
����� ��� �
� ��� '����0
/������
����� ���,��%
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�	�����?
������ ,,

�������� ��

gl(x× y) := x×∗ y

gl(a+ (b+ c)) := a+∗ (b+∗ c)

gl((a+ b) + c) := (a+∗ b) +∗ c

�
� ������� ���	� �
��������	� 
�
� �� >,���� ��� gl(
√
x)� gl(cos(x)) ��
%�

���� 
� ����� *�
���
��
�� ��� �����C����� >���������
√
, cos, . . . ���
�

��	
�� ���������
√∗, cos∗, . . . ��
��	���� 	���� �%�% gl(

√
x) :=

√
x
∗ �	�%

&�� 
��������	
��� 7/��
������ +� −� ×� / 	���� 
��� ��� 

��� >������0
���� ��� ���


√
� cos�  !� ��� '����/����0��	
�� ��������� "��������� ���		��

��  �������� ���������� �������
���%

��� ���������	��
��
��

I� ������� (�	
����� 	
��� ��� ������	 1	% 4��	/��� 32� �
		 ���� "��	
��������
�
����
��	
� ,P��"
����� ��������� (a+ b)+ c� a+(b+ c)� ��� (�	�������
��	 (�	���
��	 a + b + c ��� '����/������
����� �� �����	
������
��� *�0
	���
���  !���� �5����% �	 �	� ��	�
�� 
�	 ������	
��� '�!���� ��
�����
���
� ���	
��� "��	
�������� �
����
��	
� ,P��"
������ >�������������
����� *�
���������� �� �����	
������F =�� �����
���� 
�	 *��
������	 ����
��� *����� ���� �

� ���������  �	�������� ��P���� "�� �����
� "����� K���0
����
���L 7/��
������ 1��� 	�� ���
 �� ����� *�
����06����
�� �������
�	�2� ��� ����� �
� 
�	 ����		�� ����
���
��� ��� �5	��� ����	 6������	
����
���� �
��%

=�� ������ ��� 4����C ����	 (���������	 ���
	  ���
��	����� ��� �
��

�������� �
		 �
	 6������ �
��� ��	����� 
�	 �����
� "����� ����
���
����
����		�� ������� D
���� x1, x2, . . . , xn� ��� �����
� "���� *�	���
��
���� �,�0
��
� ������� ������ D
���� y1, y2, . . . , ym� �� ����
����% ��� 6������ ���	��
(�� �� �5	�� ���		�� ��� =��� y = ϕ(x) ����� ����		�� >������� ϕ : D �→ R

m�
D ⊆ R

n �� ��	������� ����� y ∈ R
m� x ∈ R

n ��� ϕ ���
� m ������ >���0
������ ϕi

yi = ϕi(x1, x2, . . . xn), i = 1, 2, . . . ,m,

������� �	�% ��� (���������	 �	� ���� ���������� *�
���"��	
��� � ��� 4���
�0
���� "�� ϕ(x)% I� @���� ��
���� ��	 (���������	 	��� D��	
����������		�
�������� ��� ���� ���
 �� i0��� ��
����� ��	 ���
� ����� ������� +�����

x(i) =

⎡
⎢⎢⎣
x

(i)
1
%%%
x

(i)
ni

⎤
⎥⎥⎦ ∈ R

ni

��� �,��� ni ��/�,	������� ������% &�� J����
�� ��� �,
�	��� ��
���� i+1
���� ���
� ���� ���������� *!!������
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ϕ(i) : Di �→ Di+1, Dk ⊆ R
nk ,

"���������� x(i+1) = ϕ(i)(x(i))% &�� �������
��� (���������� ϕ(i) 	��� ���0
������ ���
� ��� (���������	 ��	������ ���� �
� "�� ���"�
��� �������0
��������� 
�	����� ��� "�� 6�����
������ ��� .��/������� ��� +������� x(k)

����!����� �%�% "�� ��� �� 6�����/ �����!���
��� (�������� ��� D��	
�����0
	���
�� ����	 *�
���	�
����	 �� ����� +�����%

&�� �����
�� ��P���� ��� �������
��� 7/��
������ ����	 (���������	
���	/��
�� ����� D�������� "�� ϕ �� �������
�� (����������

ϕ(i) : Di �→ Di+1, i = 0, 1, . . . , r, Dj ⊆ R
nj ���

ϕ = ϕ(r) ◦ ϕ(r−1) ◦ · · · ◦ ϕ(0), D0 = D, Dr+1 ⊆ R
nr+1 = R

m.
1�%3%�2

�������� �� ;J� %�	 �	�	�
���� ��� y = ϕ(a, b, c) := a+ b+ c 
�� ��� %�	 $	�%	�
�������
�	�

η := a+ b, y := c+ η, bzw. η := b+ c, y := a+ η.

2�	 L	��	����	� �,�4�,! ���% 
�	� �	�	$	� %���


ϕ(0)(a, b, c) :=

»

a+ b
c

–

∈ R
2, ϕ(1)(u, v) := u+ v ∈ R,

$���

ϕ(0)(a, b, c) :=

»

a
b+ c

–

∈ R
2, ϕ(1)(u, v) := u+ v ∈ R.

�������� 	� #	�	� a2 − b2 = (a + b)(a − b) 
�� ��� �J� %�	 �	�	�
���� ���
ϕ(a, b) := a2 − b2 %�	 $	�%	� �������
�	�"

�������
��� ," η1 := a× a, �������
��� �" η1 := a+ b,

η2 := b× b, η2 := a− b,

y := η1 − η2, y := η1 × η2.

2�	 ���	
����	� L	��	����	� �,�4�,! ���% �	�	$	� %���


��%����	��� �*

ϕ(0)(a, b) :=

»

a2

b

–

, ϕ(1)(u, υ) :=

»

u
υ2

–

, ϕ(2)(u, υ) := u− υ.

��%����	��� &*

ϕ(0)(a, b) :=

2

4

a
b

a+ b

3

5 , ϕ(1)(a, b, υ) :=

»

υ
a− b

–

, ϕ(2)(u, υ) := u · υ.
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=�� ������ ��� ��� '�!��� �
 !� �����	�
���� ��	�
�� "��	
������� (�0
��������� ��� �5	��� ����	 6������	 �%
% �����	
������
�� *�	���
�� ��� ����
�� .��������  !� ��� 4���������� ��� '!�� "�� (���������� �� ��������%
&
��� 	/���� ��� >���/�
����� ��� *������	 ����� ���� ��
����� *����� ���
��� ���,
�	� 
� ��� 4��	/��� ��� ���� 

��� ����� y = a + b + c 	����
������ 1	% 4��	/��� 3 "�� �%�2% 4�� '����/������
����� ���,�� �
� 	�
�� y
����� �,������	���� ỹ = gl

(
(a+ b) + c

)
,  !� ��� ����� 1�%�%:2 ����

η : = gl(a+ b) = (a+ b)(1 + ε1)
ỹ : = gl(η + c) = (η + c)(1 + ε2)

=
(
(a+ b)(1 + ε1) + c

)
(1 + ε2)

= (a+ b+ c)
(
1 +

a+ b

a+ b+ c
ε1(1 + ε2) + ε2

)
.

>!� ��� ���
��"�� >����� εy := (ỹ − y)/y "�� ỹ ���� �
���

εy =
a+ b

a+ b+ c
ε1(1 + ε2) + ε2

���� �� ��	��� �,������ ��� +���

��,		����� "�� #����� �5����� 7������
��� ε1ε2

εy
.=

a+ b

a+ b+ c
ε1 + 1 · ε2.

&�� +��	�,�����	 
������ (a+ b)/(a+ b+ c) ���% � ����� 
�� ��� 	�
�� 	�
�
��� *������	 ����� ε1, ε2 �� ���
��"�� >����� εy ��	 *�	���
�	 
�	������% &��
�����	
�� >
���� �	� (a + b)/(a + b + c)F �� �

����� �� |a + b| ���� |b + c|
������� �	�� �	� �	 �!�	����� 1K������	
� 	�
�����L 2 ��� ����� a+ b+ c �

�
��� >����� (a+ b) + c ���% a+ (b+ c) �� ������%

�� �	��?�	� %	� �	���	� �$��
����	� ���

a+ b

a+ b+ c
=

0.33 . . .10 2

0.64 . . .10 − 3
≈ 1

2
105,

b+ c

a+ b+ c
=

0.618 . . .10 − 3

0.64 . . .10 − 3
≈ 0.97,

��� %�	 
�
	�	 (	�����6	�� ��� gl
`

a+ (b+ c)
´

	�6�C���
&��	� �������� ��� >���/�
����� 	/�������� >����� ���
� +���

��,	0

	����� "�� '�5		�� �5����� 7������ �� 	��������� �,		� 	�
� 	)	���
��	
�
�� ����� ��,����������� �����������	� ��	 (���������	 1�%3%�2

ϕ = ϕ(r) ◦ ϕ(r−1) ◦ · · · ◦ ϕ(0)

��� 4���
����� "�� ϕ(x) 
�	�
���% &
�� �!		�� ��� �����	�
���� ��� 	�
�
��� ����
��	 ����� Δx "�� x ��� ��� �� �
� � ��	 (���������	 ���
������
*������	 ����� 
� �
	 �����	���
� y = ϕ(x) 
�	������% =�� ������ ���	
���,
�	� ���  !� ��� ����
��	 ����� Δx 
�	 !���� ��� ��� �
��� ����������
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�������		� 	/,��� 
� ��� >���/�
����� ��� *������	 ����� 
�������% =��
	����� �
�� "��
�	� �
		 ��� >�������

ϕ : D → R
m, ϕ(x) =

⎡
⎢⎣
ϕ1(x1, . . . , xn)

%%%
ϕm(x1, . . . , xn)

⎤
⎥⎦


� ����� �C���� #�������� D ��	 R
n ��H����� �	� ��� ��� .��/�������0

 ������� ϕi� i = 1, . . . , n� "�� ϕ 
� D 	����� ��C���������
� 	���% ��� x̃ ���
�,������	����  !� x% ���

Δxj := x̃j − xj , Δx := x̃− x,

�����
���� ��� �
�� ��� �!	
����� ������ "�� x̃i ���% x̃ ��� 
�	 ���������
������ "�� x̃i ��� '�5		��

εxi :=
x̃i − xi

xi
,  
��	 xi �= 0.

��	���� �
� ��� ����
���
��� x ���
� x̃� 	� ���,�� �
� 
�	 *�	���
� ỹ := ϕ(x̃)
	�
�� y = ϕ(x)% &��
� #
)���0�����
����� ������ 	�
� ����� +���

��,		�����
"�� '�5		�� �5����� 7������

Δyi : = ỹi − yi = ϕi(x̃)− ϕi(x)
.=

n∑
j=1

∂ϕi(x)
∂xj

(x̃j − xj)

=
n∑

j=1

∂ϕi(x)
∂xj

Δxj , i = 1, . . . ,m,

1�%3%�2

���� �� �
���$	
��������	�

Δy =

⎡
⎢⎣
Δy1

%%%
Δym

⎤
⎥⎦ .=

⎡
⎢⎣

∂ϕ1
∂x1

· · · ∂ϕ1
∂xn

%%%
%%%

∂ϕm

∂x1
· · · ∂ϕm

∂xn

⎤
⎥⎦
⎡
⎢⎣
Δx1

%%%
Δxn

⎤
⎥⎦ = Dϕ(x)Δx1�%3%32

��� ��� >�������
��
���$ Dϕ(x)%
&
��� 	��� K

.=L 	�
�� K=L 
�������� �
		 ��� ����% '���
������ ��� �� ��0
	��� �,������ ��
���� 	���% &�� 6��/������
���,�	 
���� ∂ϕi(x)/∂xj �� 1�%3%�2
��		� ��� ��/H����
������ ��� ��� yi 
� 
�	����� Q��������� Δxj "�� xj

��
�����%
I	� yi �= 0 ��� xj �= 0  !� 
��� i ��� j� 	�  ���� 
�	 1�%3%�2 ���� >�����0

 ���/�
�����	 �����  !� ��� ���
��"�� >�����F

1�%3%82 εyi

.=
n∑

j=1

xj

ϕi(x)
· ∂ϕi(x)
∂xj

· εxj .
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=������� ���� ��� >
���� (xj/ϕi)∂ϕi/∂xj 
�� ��� 	�
�� 	�
� ��� ���
��"��
>����� �� xj 
� ��� ���
��"�� >����� "�� yi 
�	�����% &�� +��	�,�����	 
�0
����� (xj/ϕi)∂ϕi/∂xj  !� ��� ���
��"�� >����� �
��� ��� +������� �
		 	��
"�� ��� ��
������� ��� yi ��� xj ��
��,���� 	���% ���� 	�� ���		� 	/��
��
�
� "�� ����� 	������� �
�����
�������� 
����� 
��	 "�� ����� ��� �
����
��
������� 6������% 4�� 	
���
�� ��������������� 6�������� �������� ������
���
��"� >����� �� ��� ����
��	�
��� x ���		� ���
��"� >����� �� ��� *�	��0
�
��� y = ϕ(x)% &�� ���� �������� &�H������ ��� .��������	�
���� �
� ���
�

������ �
		 	�� ���  !� ��
��"��	
��������� yi� xj 	���"��� �	�% (�		�����
�	� 	��  !� "���� D��
�� �� ��/�
���	
� 1��� .�������� "�� ϕ ���� ���
� m ·n
D
���� ��	
�������2% �	 ������ ��	�
�� 
�
� 
����� ��� 

���� &�H��������
 !� ��� .�������� ����	 6������	 �������% �� �	� �	 �%4% �� ��� ����
��� (�0
����
 "��� 

� !���
�� D
���� c�  !� ��� ����% ����� ���������� ���� ‖ · ‖ ����

‖ϕ(x̃)− ϕ(x)‖
‖ϕ(x)‖ ≤ c · ‖x̃− x‖‖x‖


�	 .��������	�
���� �� �����
���� 1	% (�	
����� 8%82%

�������� 
� ;J� y = ϕ(a, b, c) := a+ b+ c 
�� ��� ���
 �,�4� !"

εy
.
=

a

a+ b+ c
εa +

b

a+ b+ c
εb +

c

a+ b+ c
εc.

2�� '��$�	� ��� ��� 6��%������	��� ����� 9	%	� 1�����% a, b, c 6�	�� �	�	�J$	� a+
b+ c ����

�������� �� 1	� y = ϕ(p, q) := −p+
p

p2 + q� +� ���

∂ϕ

∂p
= −1 +

p
p

p2 + q
=

−y
p

p2 + q
,

∂ϕ

∂q
=

1

2
p

p2 + q
,

�� %���

εy
.
=

−p
p

p2 + q
εp +

q

2y
p

p2 + q
εq = − p

p

p2 + q
εp +

p+
p

p2 + q

2
p

p2 + q
εq.

#	�	�
˛

˛

˛

˛

p
p

p2 + q

˛

˛

˛

˛
≤ 1,

˛

˛

˛

˛

p+
p

p2 + q

2
p

p2 + q

˛

˛

˛

˛
≤ 1 �J� q > 0,

��� ϕ ��� 6��%������	��� ����� q > 0� ��% ��
�	�
� 6��%������	��� ����� 	��� q ≈ −p2�

>!� ��� 
��������	
��� 7/��
������ ���,�� �
� 
�	 1�%3%82 ��� >����� ���0
/�
�����	 ������ 1 !� x �= 0� y �= 0)
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1. ϕ(x, y) := x · y : εxy
.= εx + εy,

1�%3%92

2. ϕ(x, y) := x/y : εx/y
.= εx − εy,

3. ϕ(x, y) := x± y : εx±y =
x

x± y εx ± y

x± y εy,  
��	 x± y �= 0,

4. ϕ(x) :=
√
x : ε√x

.=
1
2
εx.

�	  ����� �
		 �
	 �����/��������� &�"������� ��� =����������� �����
�� ,����
��� 7/��
������ 	���F &�� ���
��"�� >����� ��� ����
���
��� /�
����
	�
� ��
�� 	�
�� �� �
	 *�	���
�  ���% &��	���� ����
���� ����� ��� ��� (�������
"��� 	� ��� ��� ����
���� x ��� y ����
��	 +�����
��� �
���F &�� .����0
����	�
���� x/(x+ y)� y/(x+ y) ������ ���	
��� B ��� � ��� ���� ����� �	�
�� 	���� ���� ∣∣εx+y

∣∣ ≤ max
{ |εx|, |εy|

}
.

I	� ��� ����
�� ����� �����!��� ��� 
������ ��� �	� �� ��� �����
���		�� ���
��"�� >����� ���
 ���� 	� �
� �������� �
	 *�	���
� x + y �

�
1�%3%92 ��� ����� ������� ���
��"�� >������ ���� ��� ��5		��� ����
�� �����
������� ���
��"�� >����� �
�% �
� 	/��
�� �
�� "�� �������"������% =���
�
����� ��� ��� (������� ��� ����
���� x ��� y "��	
�������	 +�����
���
�
���� �	� �����	���	 ����� ��� >
������ |x/x+ y)|� |y/(x+ y)| ��5		�� 
�	 1�
��� �	 ���� �����	���	 ����� ��� ���
��"�� >����� εx� εy "��	�,���% &��	� +��0
	�,����� �	� �
�� ��	�����	 ���		� ���� x ≈ −y ��� �
��� (�	�5	
���� ���
4������ "�� x+ y 
� �����%

=�� ������ ��� ��� 
��������� >����� 1�%3%32 ��������� �� ��� >���/�
�0
���� "�� *������	 ������ ��� ����� ��������� (���������	 �� 	��������%
��� (���������	 ��� 4���
����� ��� >������� ϕ : D �→ R

m� D ⊆ R
n�  !�

��������	 x =
[
x1 · · · xn

] ∈ D ���	/��
�� ����� ��	������� D�������� ���
(�������� ϕ �� �������
�� (���������� ϕ(i) 1�%3%�2 ���  !��� "�� x(0) := x
!��� ���� .���� "�� D��	
����������		��

1�%3%:2 x = x(0) → ϕ(0)(x(0)) = x(1) → · · · → ϕ(r)(x(r)) = x(r+1) = y

��� *�	���
� y% =�� ������  !� ���  ������� &�	��		��� ������ 
�� �
		 @���	
ϕ(i) 	����� ��C���������
� �	� ��� �����
���� ��� ψ(i) ��� K*�	�
��������L

ψ(i) = ϕ(r) ◦ ϕ(r−1) ◦ · · · ◦ ϕ(i) : Di �→ R
m, i = 0, 1, 2, . . . , r.

�	 �	� �
�� ψ(0) ≡ ϕ% ��� Dϕ(i) ���% Dψ(i) �����
���� ��� ��� >�������
�0
�
������ ��� (���������� ϕ(i) ���% ψ(i)% 4��
�����
� �����/�������� 	�
� ���
>�������
��
������� ���� �
� (���������� ��	
����	����

D(f ◦ g)(x) = Df(g(x))Dg(x).

(�	� ����  !� i = 0, 1, 2, . . . , r
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Dϕ(x) = Dϕ(r)(x(r))Dϕ(r−1)(x(r−1)) . . . Dϕ(0)(x),

Dψ(i)(x(i)) = Dϕ(r)(x(r))Dϕ(r−1)(x(r−1)) . . . Dϕ(i)(x(i)).
1�%3%�2

I� '����/����
��������� ���,�� �
� ����� ��� �����		 ��� ����
��	 �����
Δx ��� ��� *������	 ����� 	�
�� ��� �$
���� D��	
�����	���
�� x(i) �,��0
����	����� x̃(i+1) = gl

(
ϕ(i)(x̃(i))

)
% >!� ��� >����� Δx(i) = x̃(i) − x(i) ����

�
���

1�%3%M2 Δx(i+1) =
(
gl
(
ϕ(i)(x̃(i))

)− ϕ(i)(x̃(i))
)

+
(
ϕ(i)(x̃(i))− ϕ(i)(x(i))

)
.

��� �	� ����� 1�%3%32 �� ��	��� �,������

1�%3%�2 ϕ(i)(x̃(i))− ϕ(i)(x(i)) .= Dϕ(i)(x(i)) ·Δx(i).

=��� ��� �������
��� (���������� ϕ(i) 	� ��	
�
C�� 	���� �
		 �
� ,��0
��
� ��� ��� ��� �������
��� 
��������	
��� 7/��
������ 1	% 1�%�%:22 ��� ���
'����/����
�	������� "�� ϕ(i) �
	 ��������� �$
��� *�	���
� ���,��� 	� ����

1�%3%�B2 gl
(
ϕ(i)(u)

)
= rd

(
ϕ(i)(u)

)
.

�
� ��

���� �
		 ��� (�������� ϕ(i) : Di �→ Di+1 ⊆ R
ni+1 ���
� �����

+�����

ϕ(i)(u) =

⎡
⎢⎢⎣
ϕ

(i)
1 (u)

%%%

ϕ
(i)
ni+1(u)

⎤
⎥⎥⎦

"�� ������� >��������� ϕ
(i)
j : Di �→ R ������� ��� 1�%3%�B2 ���/�������0

���	� �� ��	�� �	�F

gl
(
ϕ

(i)
j (u)

)
= rd

(
ϕ

(i)
j (u)

)
= (1 + εj) · ϕ(i)

j (u),

|εj| ≤ eps, j = 1, 2, . . . , ni+1.
1�%3%��2

&
��� �	� εj ��� ��� ��� 4���
����� ��� j0��� .��/������ "�� ϕ(i) �� '����0
/����
��������� 
� �������� ���� ���
��"� *������	 �����% &�� '���
����
1�%3%�B2 �,		� 	�
� 
�	� �� ��� >���

gl(ϕ(i)(u)) = (I + Ei+1) · ϕ(i)(u)

��� ��� �������	�
���$ I ��� ��� ��
���
��� >������
���$

Ei+1 :=

⎡
⎢⎢⎢⎢⎣
ε1 0 · · · 0

0 ε2
% % %

%%%
%%%

% % %
% % % 0

0 · · · 0 εni+1

⎤
⎥⎥⎥⎥⎦ , |εj | ≤ eps

	
�������% &
��� �,		� 	�
� ��� ��	�� .�
���� �� 1�%3%M2 �� �����F
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gl
(
ϕ(i)(x̃(i))

)− ϕ(i)(x̃(i)) = Ei+1 · ϕ(i)(x̃(i)).

&
 x̃(i) �� ��	��� �,������ ����
� x(i) �	�� ���� ����	� �� ��	��� �,������

gl
(
ϕ(i)(x̃(i))

)− ϕ(i)(x̃(i)) .= Ei+1ϕ
(i)(x(i))

= Ei+1x
(i+1) =: αi+1.

1�%3%��2

αi+1 �,		� 	�
� 
�	 ��� ��� ��� (�	������� "�� ϕ(i) �� '����/����
���������
��� ���	������� 
�	����� *������	 ������ ��� &�
���
��������� "�� Ei+1 
�	
��� ���	/��
������ ���
��"�� *������	 ����� �����/��������% >!� Δx(i+1) ����
�
��� ����� 1�%3%M2� 1�%3%�2 ��� 1�%3%��2 �� ��	��� �,������

Δx(i+1) .= αi+1 +Dϕ(i)(x(i))Δx(i) = Ei+1 · x(i+1) +Dϕ(i)(x(i))Δx(i),

����� Δx(0) := Δx% �
� ���,�� �
�
�	

Δx(1) .= Dϕ(0)Δx+ α1

Δx(2) .= Dϕ(1)[Dϕ(0)Δx+ α1] + α2

Δy = Δx(r+1) .= Dϕ(r) · · ·Dϕ(0)Δx+Dϕ(r) · · ·Dϕ(1)α1 + · · ·+ αr+1.

=���� 1�%3%�2 ������� �
� 	� 	
����		��
�  !� ��� �����		 ��	 ����
��	0
 �����	 Δx ��� ��� *������	 ����� αi 
� �
	 *�	���
� y = x(r+1) = ϕ(x)
��� >������

Δy
.= Dϕ(x)Δx +Dψ(1)(x(1))α1 + · · ·+Dψ(r)(x(r))αr + αr+1

= Dϕ(x)Δx +Dψ(1)(x(1))E1x
(1) + · · ·+Dψ(r)(x(r))Erx

(r)

+ Er+1y.

1�%3%�32

&�� '�5		� ��� >�������
��
���$ Dψ(i) ��� *�	�
�������� ψ(i) �	� 
�	�
���	
�������  !� ��� �����		 ��	 ��� ��� 4���
����� "�� x(i) ���
������
����� *������	 �����	 αi ���% Ei%

�������� �� ;J� %�	 �� �	��?�	� � 	���	�J
��	� �������
�	� ��� �	�	�
���� ���
y = ϕ(a, b) = a2 − b2 
�� ���

��%����	��� �*

x = x(0) =

»

a
b

–

, x(1) =

»

a2

b

–

, x(2) =

»

a2

b2

–

, x(3) = y = a2 − b2,

ψ(1)(u, v) = u− v2, ψ(2)(u, v) = u− v,

Dϕ(x) =
ˆ

2a −2b
˜

,

Dψ(1)(x(1)) =
ˆ

1 −2b
˜

, Dψ(2)(x(2)) =
ˆ

1 −1
˜

,

α1 =

»

ε1a
2

0

–

, E1 =

»

ε1 0
0 0

–

, α2 =

»

0
ε2b

2

–

, E2 =

»

0 0
0 ε2

–

,

α3 = ε3(a
2 − b2), |εi| ≤ eps �J� i = 1, 2, 3
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�	�	�
»

a×∗ a
b

–

−
»

a2

b

–

=

»

ε1a
2

0

–

,

»

a2

b×∗ b

–

−
»

a2

b2

–

=

»

0
ε2b

2

–

��% (a2 −∗ b2) − (a2 − b2) = ε3(a
2 − b2)� ;J� �,�4�,4! 	�
C�� ��� ��� Δx =

»

Δa
Δb

–

�,�4�, ! Δy
.
= 2aΔa− 2bΔb+ a2ε1 − b2ε2 + (a2 − b2)ε3.

;J� ��%����	��� & 	�
C�� ��� ������

x = x(0) =

»

a
b

–

, x(1) =

2

4

a
b

a+ b

3

5 , x(2) =

»

a+ b
a− b

–

, x(3) = y = a2 − b2,

ψ(1)(a, b, u) := u(a− b), ψ(2)(u, v) = u · v,
Dϕ(x) =

ˆ

2a −2b
˜

, Dψ(1)(x(1)) =
ˆ

a+ b −a− b a− b
˜

,

Dψ(2)(x(2)) =
ˆ

a− b a+ b
˜

,

α1 =

2

4

0
0

ε1(a+ b)

3

5 , E1 =

2

4

0 0 0
0 0 0
0 0 ε1

3

5 ,

α2 =

»

0
ε1(a− b)

–

, E2 =

»

0 0
0 ε2

–

,

α3 = ε3(a
2 − b2), E3 = ε3, |εi| ≤ eps,

��% %���� ��� �,�4�,4!

�,�4�,>! Δy
.
= 2aΔa− 2bΔb + (a2 − b2)(ε1 + ε2 + ε3).

=,��� �
� ����� 
������ (���������	� �%�% ���� 
����� D�������� "�� ϕ
�� �������
�
���������� ϕ(1)� 	� ,����� 	�
� ��
� Dϕ ��
��� ���� 
��� �%
%
��� �
������ Dψ(i)� ��� ��� >���/�
����� ��� *������	 ����� ��		��� ���
�
��� 
�
� ��� ��	
��� �����		 
���� *������	 ������ ��� ���
�

1�%3%�:2 Dψ(1)α1 + · · ·+Dψ(r)αr + αr+1

������� �	�%
�
� ����� ����� (���������	 ������	�� 	��!���� 
�	 ����� ������� (���0

������	 ��� 4���
����� "�� ϕ(x)�  
��	 ��� '�	
�������		 ��� *������	 ��0
��� ��� ��� ��	��� (���������	 ������� �	� 
�	 ��� ��� �������%

��������� 2	� �	����	 E��%�����	
�	�	��
��� ��� �������
��� , �� �	��?�	� � ���
�	�	� �,�4�, !

�,�4�,.!
˛

˛a2ε1 − b2ε2 + (a2 − b2)ε3
˛

˛ ≤ `a2 + b2 + |a2 − b2|´ eps,

%	� ��� �������
��� � �	�	� �,�4�,>!

�,�4�,3!
˛

˛(a2 − b2)(ε1 + ε2 + ε3)
˛

˛ ≤ 3 eps |a2 − b2|.
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(	��� �J� 1/3 ≤ |a/b|2 ≤ 3 ���� 3|a2 − b2| ≤ a2 + b2 + |a2 − b2|" �������
��� � ���
%	�
��$ �J� 1/3 < |a/b|2 < 3 ���	����
 ���$��	� ��� �������
��� ,� �J� %�	 J$���	�
a, b ��� �������
��� , ���	����
 ���$��	��

L�� �	��?�	� 	�
C�� ��� �J� a := 0.3237� b := 0.3134 $	�  7��	����	� E	�
����
(t = 4)"

��%����	��� �* a×∗ a = 0.1048, b×∗ b = 0.988210 − 1,

(a×∗ a) −∗ (b×∗ b) = 0.658010 − 2,

��%����	��� &* a+∗ b = 0.6371, a−∗ b = 0.103010 − 1,

(a×∗ b) ×∗ (a−∗ b) = 0.656210 − 2,

+H�6�	� E	������" a2 − b2 = 0.65621310 − 2.

I� ��� >����� ���/�
�����	 ����� 1�%3%�32 ���� ��
��,���� "�� ��� ��0
������� (���������	 ��� 4���
����� "�� y = ϕ(x)  !� ��� ������� #��� ���
(�	
�,����� �

|Er+1y| ≤ eps |y|.
4�� @���� (���������	 ��		 �
� �����	���	 ��� ����� >����� Δy ���	��
'�5		��������� eps|y| ��
����% =����� ��

��� �
�� �
		 ��� +���������
����� t0	�������� �
	
���� 
����� ���
� �
	 *����� ��� ����
���
��� x =[
x1 · · · xn

]T

� t ������� ��� ����
��	 ����� Δ(0)x ���

|Δ(0)x| ≤ eps |x|
���	����� �	 	�� ����� ��� ����
���
���� ���
 ��
�� �� ���		� �
��� D
�����
	��� ������	 �
	
������
���� ��� �
��� �$
�� �
�	�����
�% (�	 ���	�� '���0
�� ��		 �
� ��� @���� (���������	 ��� 4���
����� "�� y = ϕ(x) ���� 
��	
�����	���	 ��� ����� �������� >����� ��� '�5		��������� |Dϕ(x)| |x| eps
��
����� 	� �
		 ��	��	
�� ��� -���� (���������	 ��� ����� >����� ���
'�5		�

1�%3%��2 Δ(0)y := eps
(|Dϕ(x)| |x| + |y|)

�� ��
���� �	�% Δ(0)y ���		� ��� ���������!��� ������ "�� y% &
 �
� �������
��� ����� >����� ���	�� '�5		��������� �� ��
���� �
�� �,�� �	 ��������� "��
����� *������	 ����� αi ���% Ei ����	 (���������	 �� "���
����� �
		 	���
4����
� ��� '�	
�� ����� ��	�����
� ������� 
�	 Δ(0) �	�% =�� ������ ��	�
��
����� *������	 ����� αi ���% Ei ����	 (���������	 �����
	�  
��	 �� 1�%3%�32
	��� 4����
� ��� '�	
�� ����� Δy �5
�	���	 ���	���� '�5		��������� ���
��� ��"�������
�� >����� Δ(0)y 1�%3%��2 ��	����F

|Dψ(i)(x(i))αi| = |Dψ(i)(x(i))Eix
(i)| ≈ Δ(0)y.

=��� 
��� *������	 ����� ����	 (���������	 �
����	 	���� ���		� ��� (�0
��������	 �������� 1"��% 4
��� 1��:922% ���� ��� ��
����	��� (� �
��� ���
������	
��� �
����
��� �	� �	� ���
����� (���������� �� H����%
� �	������	��
	� �J� �	6���	�� ������	� 	��� ���% 6��?��	��	��	��	 �� �	���	
	��
���� |y| =

ˆ|y1| · · · |ym|˜T �



,�4 ;	
�	�����?
������ �,

�������� 
� �	�%	 �������
�	� ��� �	��?�	� � ���% �J� ���	 a ��% b ��������� ;J�
%	� ���	��	�%$��	� ;	
�	� Δ(0)y 
�� ��� �C����


Δ(0)y = eps
“
ˆ

2|a| 2|b|˜
»|a|
|b|
–

+ |a2 − b2|
”

= eps
`

2(a2 + b2) + |a2 − b2|´.

+�� �	���	��
 ��� �,�4�,.!� �,�4�,3! �	��� ������ %��� %	� %������ E��%�����	
�	�7
	��
��� $	�%	� �������
�	� %	� �	����	 ���
 
��
��	�� ��	��
 Δ(0)y ����

��� 

�� ������� 4��	/����  !� ��� ����� !����� 4����C� H���� �
� ��
�,
�	��� (�	
�����%

&�� 4����C ��� '��
�������� "�� (���������� �	� �����
�T ��� #������0
����� �	� ���� 
���� ��	��	������ ��� ��� &�H������ ��� ������	
��� ��
����0
�,�� ���		��� ��� � � ����� /�,��	�% �� ����� �
� �,�H� ����� (���������	
	
���
����� ������	�� 	��!��� ���� �� 	�
� ��� ��� ���
������ (���������	
"���,��% I� ���	�� 4�
� "�������� ��� ��� 4����C K������	
� 	�
���L ���
��� +������
� ������ (����������� ��
��,���� �
"�� �� ���	� (����������
���
���� 	��� ���� ��
��%

=�� ������ ��
� 
� ���� �)/�	
�� ����
���� ������	��� �� ��� 	�
� ���
4����C ��� '��
�������� ���,���% <,�H� "�������� �
� �'��	��.�� *��
�
�������

x→ z = ϕ̃(x) → y = ψ̃(z) = ϕ(x)

��� 4���
����� ����� >������� y = ϕ(x)� ϕ = ψ̃◦ϕ̃� ��� �
� ���
� <��������0

����	
�
���� ������ 
������ (���������� 1-����/����
��� S2 ��� 4���
�0
���� "�� z = ϕ̃(x) ��� "�� y = ψ̃(z) ���,��% =�� ������ ������� �
		 ���	 ��
��
��������� �� ����� ���
������ (���������	 ��� 4���
����� "�� y = ϕ(x)
 !���� 	���	� ���� �
� ���
����� (���������� ��� 4���
����� "�� z = ϕ̃(x)
��� y = ψ̃(z) �������% I� ��� #
� ���,�� �
� ��� ��� 4���
����� "�� z ��
'����/����
��������� ��	��� 
��	 ����� �,������	���� z̃ ��� ����� 
�	������
>����� αz = z̃ − z ��	 4���
��	

|αz | ≈ |z| eps.

(����� ���	�� >����� 	������ ��� 
�	������ >����� "�� y ��� (����� Dψ̃(z)αz

���� ��		�� 4���
� ��� '�5		� |Dψ̃(z)||z|eps �����
��� �
��% &�� ����	��0
H�� (���������	 ���� 	�
��� ����� ���
���� 	����  
��	 ���	�� 4���
� 	��� "���
��5		�� 
�	 ��� ��"��������
�� >����� 1�%3%��2 Δ(0)y "�� y �	��

|Dψ̃(z)| |z| eps� Δ(0)y =
(|Dϕ(x)||x| + |y|) eps.

�	 ����� ���� ��� 
� ��� '�5		��������� "�� |Dψ̃(z)| |z| �� +������
� ��
|Dϕ(x)| |x| 
�� �%�% 1"��% 1�%3%822 
� ��� /
�����
� ��� (�������� ψ̃ �� +��0
����
� ��� ��� .�������� ��� (�������� ϕF &�� ��� ��
���������	 �	� ��
��
���
�����  
��	 ��� .�������� "�� ψ̃ 	��� "��� 	
���
���� 
�	 ��� "�� ϕ �	�% &

��� (�	
�,����� ��� ��� *!!�������� ϕ ��� ψ̃ ��"��"����� ������ ���	� (�	0
	
��� ��
��,���� �
"��� ���
�� #���
���������� �
� ��� 4���
����� "��



�� , ;	
�	�����<�	

z = ϕ̃(x) ��� "�� y = ψ̃(z) "��������% �
� 	����� ��	�
�� ��������� ��� ��0

���������� "��������� �� ����� D��	
�����	���
�� z ����
���� ������� "��
����� �
	 �����	���
� y ��/H����
��� 
��,��� 
�	 "�� ��� ����
��	�
��� x%

��� ������ �
���  !� ����� (���������	 ��� '��
�������� �

������	���
�	� ��� 	��% !���'���������	�	� ��� "�� =�����	�� ��� (�
�)	� ��� (�������0
��� ��� ����
��� (�����
 ������� �����% 4�� ���	�� #�
���� ���� ���,
�	�
"��	�
�� �� ������� �
		 �
	 *�	���
� ỹ = y + Δy ����	 (���������	 ���
4���
����� "�� y = ϕ(x)� �
	 �
� �� '����/����
��������� ��� ��� (�	���0
���� "�� ϕ(x) ���,��� 	�
� �� ��� >��� ỹ = ϕ(x + Δx) 	
������� �,		� ���
�
��� 
�	 *�	���
� ����� �$
���� *�
����� ��� 
���,������� ����
���
���
x + Δx �����/������� ������ �
��% .
�� �
� ��	,����
� ������� �
		 Δx
�5
�	���	 ���	���� '�5		��������� ��� |Δ(0)x| ≤ eps |x| �
�� 	� �	� �
��� ���
'��
�������� ��	 (���������	 �������%

D�� �
���		 	��� ��
� ���� 
��
�� ����	 4��	/���	 �
���	����� ������� ���
�
� �
	 >�����"���
���� ����	 (���������	 	�
�� ���
� 1�%3%�32 
�
� ��� <�� �
����	 ������� "��
�	
�
���
��� �
��� ��� "�� 4
��� 1���82 "����	
��
���
�����% &�� (���������� � ��� � "�� 4��	/��� � ������ 	� ���
� ��� '�
/���
"�� >��% � ��	
�������%

a εa b εb a εa b εb

� �� � � ���

a
a−b

b
a+b

1 1 1 1 a
a+b

−b
a−b

× × + −
η1 ε1 η2 ε2 η1 ε1 η2 ε1

� � � �

η1
η1−η2

−η1
η1−η2

− ×
y ε3 y ε3

(���������	 � (���������	 �

���� �� (��?
	�%����	����� %	� ;	
�	�����?
������ ��� �������
�	�

&�� .����� ���	/��
��� ��� D��	
�����	���
���% .����� i ���� ���
.����� j ���
� ���� ����
����� .
��� "���������  
��	 �
	 D��	
�����	���
�
"�� .����� i ������ �� �
	 D��	
�����	���
� "�� .����� j �������% &�����0
	/��
���� ���	���� 
� @���� .����� ��� ����� ���
��"�� *������	 ������ ���
����� ��� �����C����� .����� ��	
������� ����% &�� D
���� 
� ��� .
����
����� ��� +��	�,�����	 
������  !� ��� ���
��"�� >����� 
�% D%4% �
�� �
�



,� �	��?�	�	 �4

"�� '�
/��� ��	 (���������	 �  ������� 4���������� 
���	��F

εη1 = 1 · εa + 1 · εa + ε1, εη2 = 1 · εb + 1 · εb + ε2,

εy =
η1

η1 − η2 · εη1 −
η2

η1 − η2 · εη2 + ε3.

=��� �
� ��� >
���� ��		��� ��� ��� �����/������� ��� *������	 ����� "��
.����� i ��� ���
��"�� >����� ��	 D��	
�����	���
�	 "�� .����� j �����,���
�
� �
�  !� @���� ����
������ =�� "�� i �

� j ��� .
���� 
������ �� ���0
��/�������� ��� ���	� 6������� �� 	��������% D%4% ��	
�� ��� '�
/� "��
(���������	 �� �
		 ��� >����� εy ��� ����
��	 ����� εa ��� 4����
�( a

a+ b
· 1 +

a

a− b · 1
)
· εa

��� ���%

��� ���������

�������� �� 2�	�	� �	��?�	� ��
��	��� ���
 �� �	��?�	�  %	� �	���	� �$��
����	� ���
+� �	� p > 0� q > 0� p� q �	�	$	�� ��� $	�����	 %�	 #���	�

y = −p+
p

p2 + q

6�	����	� �	����	� %	� 8��%������
	� (�	��
���

y2 + 2py − q = 0.

+�������%��	�" p� q� E	������" y = ϕ(p, q) = −p+
p

p2 + q�
�� �	���	� �$��
���� ��
	� ���� %��� %�� '��$�	� ϕ(p, q) �� $	�	�
�	�� �J�

p > 0� q > 0 ��� 6��%������	�� ���� ��% %�	 �	�����	� +��������	
�	� εp� εq ���
�	�����	� ;	
�	� %	� E	������	� y ����	�%	� �	����� �	���	�"

−p
p

p2 + q
εp +

q

2y
p

p2 + q
εq =

−p
p

p2 + q
εp +

p+
p

p2 + q

2
p

p2 + q
εq.

#	�	�
˛

˛

˛

˛

˛

p
p

p2 + q

˛

˛

˛

˛

˛

≤ 1,

˛

˛

˛

˛

˛

p+
p

p2 + q

2
p

p2 + q

˛

˛

˛

˛

˛

≤ 1

�	�J�� %	� ���	��	�%$��	 ;	
�	� Δ(0)y %	� E	������	� y = ϕ(p, q) %	� I���	��
��7
�	�

eps ≤ ε(0)y :=
Δ(0)y

y
≤ 3 eps.

#�� ���	����
	� ��	� �������
�	� ��� �	�	�
���� ��� y = ϕ(p, q)�

��%����	��� �* s := p2,

t := s+ q,

u :=
√
t,

y := −p+ u.



� , ;	
�	�����<�	

#�	 ��� ��	
�� ����� �	�	� p � q $	� y := −p + u �������
��� ���� ��% 	� ��	
�
�� 	�����	�� %��� %	� E��%�����	
�	�

Δu := ε ·
√
t = ε ·

p

p2 + q,

%	� $	� %	� (�	��?��6�$	�	�
���� %	� M��%�������	�

gl(
√
t) =

√
t · (1 + ε), |ε| ≤ eps,

�	� 	����	
�� �	���C�6� ���%� �� %	� B�� �	������
� %�	�	� ;	
�	� ����	�%	� �	�����	�
;	
�	� ��� y"

εy
.
=

1

y
Δu =

p

p2 + q

−p+
p

p2 + q
· ε =

1

q
(p
p

p2 + q + p2 + q)ε = k · ε.

#	�	� p� q > 0 ���� �J� %	� �	���C�6������6��� k %�	 �$��
C�����

k >
2p2

q
> 0.

+� 6��� �J� p � q �	
� ����� �	�� ��% �	���� %��� %	� ����	��
���	�	 �������
���
���
� �������� ���� �	�� ���	�� %	� +��
��� %	� E��%�����	
�	�� ε, %	� $	� %	� �	�	�
7
���� ���

p

p2 + q ���C���� ��	� �����	� ��� %	� �	�����	 ���	��	�%$��	 ;	
�	� ε(0)y

����

��%����	��� &* s := p2,

t := s+ q,

u :=
√
t,

v := p+ u,

y := q/v.

�	� %�	�	� �������
��� ����� $	� %	� �	�	�
���� ��� v 6	��	 �������
��� ����
2	� $	� %	� �	�	�
���� ��� u =

√
t 	����	
	�%	 E��%�����	
�	� Δu = ε

p

p2 + q
��	�	��� %���
 %�	 	���?�	�
	�%	 E	���$$��%��� ψ(u)

u→ p+ u→ q

p+ u
=: ψ(u)

�	���C�6�� ����	�%	� �	���� ��� �	�����	� ;	
�	� εy ��� y $	�"

1

y

∂ϕ

∂u
Δu =

−q
y(p+ u)2

·Δu

=
−qpp2 + q

`−p+
p

p2 + q
´`

p+
p

p2 + q
´2 · ε

= −
p

p2 + q

p+
p

p2 + q
· ε = k · ε.

2	� �	���C�6������6��� k ��� 6�	��� |k| < 1� �������
��� � ��� ���������
2�� ����	�%	 6�	�������$��� ��������	�� %	� I��	���
�	% �����
	� %	� �������
7

�	� , ��% � ���	 $	� �	��	�	� ���	����
	� �	��?�	�	� ���  � ���C�7�������	���	��	�



,� �	��?�	�	 �>

�	�	�
�	�� ��� 	��� ,� 2	�������	��	� 	���?���
�N �����
���	 L�=	�� ���% ���	�7
�����
	�!"

p = 1000, q = 0.018 000 000 081

E	������ �J� y ���
 ��%����	��� �* 0.900 030 136 10810−5

E	������ �J� y ���
 ��%����	��� &* 0.899 999 999 99910−5

+H�6�	� #	�� ��� y" 0.900 000 000 00010−5

�������� 	� ��� 0���	 %	� ;���	�

cos(m+ 1)x = 2 cos x cosmx− cos(m− 1)x, m = 1, 2, . . . , k − 1,

6��� ��� cos kx �J� �	��	� x ��% ������
���	� k �	6����� $	�	�
�	�� ��� 
�� %���
��� 	����� ��� c := cosx 	��	 ��������	�����
	 ;��6���� ������	��	�� 1	� ���
|x| �= 0 	��	 6�	��	 L�
�� �	� %	� �	�	�
���� ��� c 	����	
	 	�� 6�	��	� E��%����7
�	
�	��

c̃ = (1 + ε) cosx, |ε| ≤ eps.

#�	 ���6� ���
 %�	�	� E��%�����	
�	� ��� cos kx ���O
�������" cos kx 
C��� �� ����	�%	� #	��	 ��� c �$"

cos kx = cos(k arccos c) =: f(c).

#	�	�
df

dc
=
k sin kx

sin x
$	���6� %	� �$�����	 ;	
�	� ε cosx ��� c �� 	���	� /C
	���� 	��	� �$�����	� ;	
�	�

�,� �,! Δ cos kx
.
= ε

cos x

sin x
k sin kx = ε k ctg x sin kx

�� cos kx�
2	� ���	��	�%$��	 ;	
�	�Δ(0)ck �,�4�,-! %	� E	������� ck := cos kx ��� %��	�	�

Δ(0)ck = eps
`

k|x sin kx| + | cos kx|´.
+�� �	���	��
 ��� �,� �,! �	���� %��� Δ cos kx �J� 6�	��	� |x| �	�	�����
 �����	� ���
Δ(0)ck �	�� 6���" 2	� �������
��� ��� �J� ����
	 x ���
� ���������

�������� 
� ;J� 	��	 �	�	$	�	 L�
� x ��% 	��	 P�����	Q ����	 L�
� k ����	� cos kx
��% sin kx �	6����� ��� 0���	 %	� ;���	��

cosmx := cosx cos(m− 1)x− sin x sin(m− 1)x,

sinmx := sin x cos(m− 1)x+ cos x sin(m− 1)x, m = 1, 2, . . . , k,

$	�	�
�	� �	�%	��
#�	 ���6	� ���
 6�	��	 ;	
�	� εc cos x� εs sin x $	� %	� �	�	�
���� ��� cos x� sin x

��� %�	 +�%�	������	 cos kx� sin kx ���O 1	��� ��� ��� �$6J����� cm := cosmx�
sm := sinmx� c := cos x� s := sin x� �� ��� �� �����H��
�	�$�	��	 ��� %	� ����C�	�
�����H

U :=

»

c −s
s c

–

,



�A , ;	
�	�����<�	

%�	 	��	� 2�	
��� �� %	� #��6	� x 	���?���
��
»

cm
sm

–

= U

»

cm−1

sm−1

–

, m = 1, . . . , k,

��% %�
	�
»

ck
sk

–

= Uk

»

c0
s0

–

= Uk

»

1
0

–

.

/�� ���
∂U

∂c
=

»

1 0
0 1

–

,
∂U

∂s
=

»

0 −1
1 0

–

=: A

��% %�
	�

∂

∂c
Uk = kUk−1,

∂

∂s
Uk = AUk−1 + UAUk−2 + · · · + Uk−1A = kAUk−1,

�	�� A ��� U �	������
$�� ���� 2� U 	��	� 2�	
��� �� R
2 �� %	� #��6	� x

	���?���
�� ��� ��
��	�����


∂

∂c
Uk = k

»

cos(k − 1)x − sin(k − 1)x
sin(k − 1)x cos(k − 1)x

–

,

∂

∂s
Uk = k

»− sin(k − 1)x − cos(k − 1)x
cos(k − 1)x − sin(k − 1)x

–

.

2�	 �	�����	� ;	
�	� εc� εs ��� c = cos x ��% s = sin x $	���6	� %�
	� $	� cos kx�
sin kx ����	�%	 �$�����	 ;	
�	�"

»

Δck
Δsk

–

.
=

»

∂

∂c
Uk

– »

1
0

–

εc cos x+

»

∂

∂s
Uk

– »

1
0

–

εs sin x

= εck cosx

»

cos(k − 1)x
sin(k − 1)x

–

+ εsk sin x

»− sin(k − 1)x
cos(k − 1)x

–

.

�,� ��!

2�	 ���	��	�%$��	� ;	
�	� �,�4�,-! Δ(0)ck ��% Δ(0)sk ��� ck = cos kx ��% sk =
sin kx ���% %��	�	�

Δ(0)ck =
`

k|x sin kx| + | cos kx|´ eps,

Δ(0)sk =
`

k|x cos kx| + | sin kx|´ eps.
�,� �4!

+�� �	���	��
 ��� �,� ��! �	���� %��� �J� �����	� k ��% |k · x| ≈ 1 �� (	�	�����
��� E��%�����	
�	� εs %	� +��
��� ��� εc ��� %�	 E	������	 �	�	�����
 �����	� ���
%�	 ���	��	�%$��	� ;	
�	� ���%� 2	� �������
��� ��� ���
� ��������� �$��
� 	� ���
�������
��� ��� �	�	�
���� ��� ck ���	�� ���	����
 ���$��	� ��� %	� �������
���
��� �	��?�	� � ����

�������� �� 2�	 ���	����
	 1��$����C� %	� �������
��� �� �	��?�	� 4 ��� �	�	�
����
��� cm = cosmx� sm = sinmx� m = 1, 2, . . . � �J� 6�	��	� |x| �C��� ���
 �	��	�
�	�$	��	��" +� ���

cos(m+ 1)x = cos x cosmx− sin x sinmx,

sin(m+ 1)x = sin x cosmx+ cosx sinmx,



,� �	��?�	�	 �.

��% 	� ���� %�
	� �J� %�	 2�=	�	��	� dcm+1 ��% dsm+1 ���	����%	�����	�%	� cos7
��% sin7#	��	

dcm+1 : = cos(m+ 1)x− cosmx

= 2(cos x− 1) cosmx− sin x sinmx− cosx cosmx+ cosmx

= −4
“

sin2 x

2

”

cosmx+
`

cosmx− cos(m− 1)x
´

,

dsm+1 : = sin(m+ 1)x− sinmx

= 2(cos x− 1) sinmx+ sin x cosmx− cosx sinmx+ sinmx

= −4
“

sin2 x

2

”

sinmx+
`

sinmx− sin(m− 1)x
´

.

2�	� �J
�� �� ����	�%	� �������
��� ��� �	�	�
���� ��� ck� sk �J� x > 0"

dc1 := −2 sin2 x

2
, t := 2 dc1,

ds1 :=
p

−dc1(2 + dc1),

s0 := 0, c0 := 1,

��% �J� m := 1, 2, . . . , k"

cm := cm−1 + dcm, dcm+1 := t · cm + dcm,

sm := sm−1 + dsm, dsm+1 := t · sm + dsm.

;J� %�	 ;	
�	�����<�	 $	��
�	� ���� %��� %�	 #	��	 ck ��% sk ;��6����	� ���
s = sin(x/2) ���%"

ck = cos(2k arcsin s) =: ϕ1(s),

sk = sin(2k arcsin s) =: ϕ2(s).

+�� ;	
�	� Δs = εs sin(x/2) $	� %	� �	�	�
���� ��� s $	���6� %�
	� �� 	���	�
/C
	���� ����	�%	 ;	
�	� �� ck� sk"

Δck
.
=
∂ϕ1

∂s
εs sin

x

2
= εs

−2k sin kx

cos x
2

sin
x

2
= −2k tg

x

2
sin kx · εs,

Δsk
.
=
∂ϕ2

∂s
εs sin

x

2
= 2k tg

x

2
cos kx · εs.

+�� �	���	��
 ��� %	� ���	��	�%$��	� ;	
�	�� �,� �4! �	���� %��� %	� ;	
�	� εs �J�
6�	��	� |x| 
������ ����

��������������� x = 0.001� k = 1000

�������
��� E	������ �J� cos kx �	�����	� ;	
�	�

�	��?�	� � 0.540 302 121 124 −0.3410−6
�	��?�	� 4 0.540 302 305 776 −0.1710−9
�	��?�	�  0.540 302 305 865 −0.5810−11
+H�6�	� #	��" 0.540 302 305 868 140 . . .



�3 , ;	
�	�����<�	

�������� �� 2�	�	� �	��?�	� ����� 	����	 E	������	 ����	�� %�	 $	� %	� ����<�	 %	�
�������
�	� ��� (�	��
������
����� �� �$��
����  �> �J�����
 ���%� (	�	$	� �	�	�
%�	 L�
�	� c� a1, . . . , an� b1, . . . , bn−1 ��� an �= 0� (	���
� ��� %�	 )����� βn %	�
���	��	� (�	��
���

�,� � ! c− a1b1 − · · · − an−1bn−1 − anβn = 0.

�	� (�	��?��6��	�
���� 	�
C�� ��� ����� %	� 	H�6�	� )����� βn 	��	� /C
	�����7
�	��

�,� �>! bn = gl
“ c− a1b1 − · · · − an−1bn−1

an

”

��� %�	 ����	�%	 #	��	"

s0 := c;

�J� j := 1, 2, . . . , n− 1

sj := gl(sj−1 − ajbj) = (sj−1 − ajbj(1 + μj))(1 + αj),

bn := gl(sn−1/an) = (1 + δ)sn−1/an,

�,� �A!

��� |μj |� |aj |� |δ| ≤ eps� 0C�F� ��� �� %	� ���	�%���	� an = 1� �� %�	�	� ;��� ���
δ = 0� �	�	� bn := sn−1� #�� ����	� ��	� �	���
�	%	�	 �J�����
	 �$��
C�����	�
�J� %�� .�������

r := c− a1b1 − · · · − anbn

�	$	�� 2���
 1�������� %	� ��� �,� �A! ����	�%	� (�	��
���	�

s0 − c = 0,

sj − (sj−1 − ajbj) = sj −
“ sj

1 + αj
+ ajbjμj

”

= sj
αj

1 + αj
− ajbjμj , j = 1, 2, . . . , n− 1,

anbn − sn−1 = δsn−1,

	�
C�� ���

r = c−
n
X

i=1

aibi =
n−1
X

j=1

“

−sj
αj

1 + αj
+ ajbjμj

”

− δsn−1

��% %���� %�	 	���	 %	� �	���
�	� �$��
C�����	�

|r| ≤ eps

1 − eps

„

δ′ · |sn−1| +
n−1
X

j=1

`|sj | + |ajbj |
´

«

,

δ′ :=

(

0 ����� an = 1,

1 ������

�,� �.!

2�	 ����	�%	 �$��
C����� ��� ���$	� ��� �,� �.!� ��� �,� �A! �����

�,� �3! bn =

„

c
n−1
Y

k=1

(1 + αk) −
n−1
X

j=1

ajbj(1 + μj)
n−1
Y

k=j

(1 + αk)

«

1 + δ

an
.



,� �	��?�	�	 �-

2���
 ��
��	� ���
 c 	�
C�� ���

�,� �-! c =

n−1
X

j=1

ajbj(1 + μj)

j−1
Y

k=1

(1 + αk)−1 + anbn(1 + δ)−1
n−1
Y

k=1

(1 + αk)−1.

2���
 ������C�%��	 ��%�6���� ���
 m �	��� ��� ��� �	��
�� %��� ���

(1 + σ) =
m
Y

k=1

(1 + σk)±1, |σk| ≤ eps, m · eps < 1

�����
|σ| ≤ m · eps

1 −m · eps
.

#	�	� �,� �-! 	���$� %�	� %�	 +H���	�� ��� L�
�	� εj ���

c =
n−1
X

j=1

ajbj(1 + j · εj) + anbn
`

1 + (n− 1 + δ′)εn

´

,

|εj | ≤ eps

1 − n · eps
, δ′ :=

(

0 ����� an = 1,

1 ������

�,� �,�!

�� %��� �J� r = c− a1b1 − a2b2 − · · · − anbn ����

�,� �,,! |r| ≤ eps

1 − n · eps

„n−1
X

j=1

j|ajbj | + (n− 1 + δ′)|anbn|
«

.

��� �,� �3! ����� ���$	���%	�	 %�	 (�������6	�� ���	�	� �������
��� ��� �	�	�
����
��� βn� �� 	���	� /C
	���� ��	�	�� �C����
 ���� %	� E��%�����	
�	� αm ����	�%	�
�	����� ��� �$�����	� ;	
�	� ��� βn

`

(c− a1b1 − a2b2 − · · · − ambm)/an

´

αm.

2�	�	� �	����� ��� 
��
��	�� ��	��
 %	� +��
���
˛

˛

˛

˛

c · εc − a1b1εa1 − · · · − ambmεαm

an

˛

˛

˛

˛
≤ eps

|c| +Pm
i=1 |aibi|

|an| ,

%	� ���	�� +��������	
�	� εc� εai ��� c $��� ai� i = 1, . . . ,m� ��� |εc|� |εai | ≤ eps

�$	�� R
����
 6��� ��� �J� %�	 J$���	� E��%�����	
�	� μk ��% δ �����	���	�	��

(	��
����
 �	��� ��� %�	 (�������6	�� %�%���
� %��� ��� �,� �,�! �� 1���	 %	�
P$��6���%7����<���Q ���	�?�	��	��" 2�� $	�	�
�	�	 bn ��� 	H�6�	 )����� %	� (�	�7
�
���

c− ā1b1 − · · · − ānbn = 0,

%	�	� D�	S��	��	�

āj := aj(1 + j · εj), 1 ≤ j ≤ n− 1,

āj := aj

`

1 + (n− 1 + δ′)εn

´

�	�	�J$	� %	� aj ��� �	��
� �$�	C�%	�� ���%�
�	� %�	�	� ��� ��� ����<�	 
�� ��� %�	 1�
��	���6	��� 	�6�C�	� �� �J��	�� �J�

��	 �����	 n ;	
�	� %	� ;��� nε� |ε| ≤ eps� ���
 ��� ;	
�	� ��� %	� (����	���%����
%	� ����
��	��	�����6	�� eps �	��	� ����	��



4� , ;	
�	�����<�	

�� !	
	��	����� �
��
���������
"���#	�
����

&�� �����		 ������� *������	 ����� �
�� �
� ��
� ��� ��� �������� "��
�%3 
�	
�,����% 4�� ����� �)/�	
��� (���������	 �	� @���
� ��� D
�� ��� 
����0
����	
��� 7/��
������ ��� �
��� ��� D
�� ��� ��������� *������	 ����� ��
���		� �� 
� ���	� =��	� ��� �����		 
���� *������	 ����� ��	������ ��
�5����%

'�����
�� "�� 	����	��	���� *������	 �����
�	
�,������� 1	���� *
��0
�

��� 1��8M22� �	� ��� (��
���� �
		 ��� ���
��"�� *������	 ����� ε 1	����
1�%�%:22� ��� ��� ��� �������
��� 
��������	
��� 7/��
������ ���	����� 
�	
0�����	�����!�� ��� =����� �� I����"
�� [−eps, eps] 
� �� 
		� ������ �5����%
&
�!��� ���
�	 ����� �
� 
�� �
		 ���	� �������
��� D� 
��	"
��
���� ε
��
��,���� 	���� ���� 	�� �� "��	
�������� �������
��/��
������ ���5���%
��� με �����
���� ��� ��� ����������� ��� σε ��� �������� 1σ2

ε ��� +
��
��2
��� D� 
��	"
��
���� ε% >!� 	�� ������ ��� ��� ���
�����	����07/��
��� E
��� 
�	 ��� �
����
��	
��� ��
��	��� ���
����� 4����������

με = E(ε), σ2
ε = E

(
ε− E(ε)

)2 = E(ε2)− (
E(ε)

)2 = με2 − μ2
ε.

-���� ��� �������� (��
���� �
		 ��� D� 
��	"
��
��� ε 
� ��� I����"
��
[−eps, eps] �������������� �	�� ���,�� �
� ��� �$/������� >������

1�%9%�2 με = E(ε) = 0, σ2
ε = E(ε2) =

1
2eps

∫ eps

−eps

t2dt =
1
3
eps2 =: ε̄2.

���� ���
���� -����	�
���� ����� @���
� 1	���� �������� 1���822� �
		 ���
(��
��� ��� '���
�"��������� ��
�� �
�� ��
���� �	�% �
� 	����� ��	�
�� ��
��
"����		��� �
		 �
� ��� ���	�� (��
��� ���
�� *������	 ����� �����������
��� �
	 +���
���� ��� �
�	,
���
��� �������
��� *������	 ����� �� *�
�����
��
� 	��� ���� 
��� ��� �,������	���	� ��	
�������% -� ��		��� (�	,��� 
�	
1�%9%�2  !� με ��� σ2

ε �� ���
����� ���� �
� ��������� 
��	 
� ��/���	
��
-����	�
������ ���!
����� �� �!		��%

&�� *�	���
�� x ����	 (���������	 ������ ����� ��� �����		 ��� *��0
����	 ����� 	���	� D� 
��	"
��
��� ��� ���
�����	���� μx ��� +
��
�� σ2

x

	����  !� ��� ���� 
��	 ����

σ2
x = E

(
x− E(x)

)2 = E(x2)− (
E(x)

)2 = μx2 − μ2
x.

&�� >���/�
�����  �!����� *������	 ����� ����� ��� �������
��/��
������
������  !� ��������� D� 
��	"
��
��� x, y ��� D
���� α, β ∈ R ���
�  �������
*����� ��	
�������

μαx±βy = E(αx ± βy) = αE(x) ± βE(y) = αμx ± βμy,

σ2
αx±βy = E

(
(αx ± βy)2)− (

E(αx ± βy))2

= α2E
(
x− E(x)

)2 + β2E
(
y − E(y)

)2 = α2σ2
x + β2σ2

y .

1�%9%�2



,�> 1���������
	 E��%�����	
�	��$��
C�����	� 4,

&�� ��	�� ���	�� >������ ����  !� ��������� D� 
��	"
��
��� ����� ��� ����
0
���,� ��	 ���
�����	����07/��
���	 E% &�� ������ ���� ���  !� ���!�"�����
D� 
��	"
��
��� x, y� �
 ���� ��� 4�������� E(x · y) = E(x) ·E(y) ��� 4����	
���5���� ����% ����	� ���,�� �
�  !� ��
��,����� D� 
��	"
��
��� x, y

μx×y = E(x× y) = E(x)E(y) = μxμy,

σ2
x×y = E

(
(x× y)− E(x)E(y)

)2 = μx2μy2 − μ2
xμ

2
y

= σ2
xσ

2
y + μ2

xσ
2
y + μ2

yσ
2
x.

1�%9%32

��������� ;J� %�	 �	�	�
���� ��� y = a2 − b2 ���	
	 �	��?�	� � �� ,�4! F�%	� ���
���	� �	��	�%��� ��� �,�>�,!� E(a) = a� σ2

a = 0� E(b) = b� σ2
b = 0 ��% ��� �,�>��!�

�,�>�4!

η1 = a2(1 + ε1), E(η1) = a2, σ2
η1 = a4ε̄2,

η2 = b2(1 + ε2), E(η2) = b2, σ2
η2 = b4ε̄2,

y = (η1 − η2)(1 + ε3), E(y) = E(η1 − η2)E(1 + ε3) = a2 − b2,

�η1� η2� ε3 �	�%	� 
�	� ��� ���$
C����	 L�����������$�	 ���	����	�!�

σ2
y = σ2

η1−η2σ
2
1+ε3 + μ2

η1−η2σ
2
1+ε3 + μ2

1+ε3σ
2
η1−η2

= (σ2
η1 + σ2

η2)ε̄
2 + (a2 − b2)2ε̄2 + 1(σ2

η1 + σ2
η2)

= (a4 + b4)ε̄4 +
`

(a2 − b2)2 + a4 + b4
´

ε̄2.

�	� �	����
�C������� ��� ε̄4 �	�	�J$	� ε̄2 	�
C�� ��� �� 	���	� @�%���� %�	 ;���	�

σ2
y
.
=
`

(a2 − b2)2 + a4 + b4
´

ε̄2.

;J� a := 0.3237� b = 0.3134� eps = 5 × 10−4 ���	
	 �	��?�	� > �� ,�4! F�%	� ��� %�	
1��	����

σy
.
= 0.144ε̄ = 0.000 0415,

%�	 %�	 ��	��
	 (����	���%���� ��	 %	� ��
�	 ;	
�	� Δy = 0.000 01787 $	������ %	�
��� $	�  7��	����	� E	�
���� 	�
���	�� ��� �	���	��
	 σy ��� %	� ;	
�	���
���6	
0.000 10478� %�	 ��� �,�4�,.! �	��	�	�� ���%�

=�� �����
���� ��� M(x) ��� ����� 
���� '�5		��� ��� ��� ����� ������0
��� (���������	 ������ ���� �������� �� ��� 4���
����� "�� x ������
����
	���% >
��	 M(x) ∩M(y) �= ∅� ������ ��� D� 
��	"
��
���� x ��� y �� 
��0
�������� 
��,���� 	���% &�� �$
��� 	�
��	��	
�� *������	 �����
�	
�,�����
���� ��� ����� (���������	 
��� �$���� 	
�������� ���� �
� (��,����0
������ ���!
�	�
������ ����% ��� ����"���� ���  �������� �������� +��
�	0
	��������� ��� ��� (�
�)	� �������
� "����� 

���F

1�%9%82


2 1�� ��������� -���� ���������	���� �������
� 	��� ���!�"����� 0��
����	�����!��2
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�2 3�� ��� 3��������� ��� ��������� '����� ��� ��� 4���� �������	��� ����
���� �� eps !�����	�������2


2 *��� ��������� 	��� 	
 �����5 ��		 ��� -��� ���������	��� �������
� ∗ ��
��	���  "������ ����

E(x ∗ y) .= E(x) ∗ E(y) = μx ∗ μy.

=��� �
� ��	,����
� ��� ���
�����	����� μx "�� x ���
� x ��	���� ���
�������� ��������� ε2x := σ2

x/μ
2
x ≈ σ2

x/x
2 ��� !���� ���,�� �
� 
�	 1�%9%�2�

1�%9%32 1"������
�� 1�%�%:2� 1�%3%922 ��� >������

z = gl(x± y) : ε2z
.=
(x
z

)2

ε2x +
(y
z

)2

ε2y + ε̄2,

z = gl(x± y) : ε2z
.= ε2x + ε2y + ε̄2,

z = gl(x/y) : ε2z
.= ε2x + ε2y + ε̄2.

1�%9%92

�
� ��

��� 
���� �
		 ���	� *��
������ ��� ����� ��� (��
��� 1�%9%82�
��	��	������ 1�%9%82
2 �!���� 	���%

�	 �	� �5���
�� ���	� >������ �� +���
� ����	 (���������	 �������0
��
����% �
� ���,�� 	� �
�,�������  !� ��� ���
��"�� +
��
���� ��� �����	��0
�
��% &��	  !��� �� ����H������� (����������� ��� ��� 6

��� (x, ε2x) "��
'�5		�� 
�������� ��� !��� �������
�� 7/��
������ ���	/��
���� 1�%9%92 ����

�
����� >������ ��	
�����,����% >�����	
��
����  !� ��� �����	���
�� r
���,�� �
� �
�� 
�	 ��� ���
��"�� +
��
���� ε2r ��� <�� � ��� �������� (�0
�
���� �
		 ��� ���"
��
���� r �
������������ 	���% &��	� (��
��� �	� �� ���
*���� ����
�� ������� ���� ��� +��������� "�� r ��� "�� D��	
�����	���
��� x
��	� ��		�� ���
� ���� ����
�"��������� 
//��$������ ����� @� ���� ��
�0
�,����� *������	 ����� �� ���� 4���
����� �������		�� 	���% -���� ���	��
����
���,�	
��
���  ���� @���� 
��	� �
		 ��� ���
��"� >����� ����	 *�	���
�	
r ��� ��� =
��	
������
����� B%� ��� 4���
� �

� �5
�	���	 ����
� 2εr �	�%

$"
���

��
"�� �
 %
��	�� �

,� ��� �	��	� %��� $	� t7��	����	� %	�����	� (�	��?��6��	�
���� ������ �� �,����!
����

rd(a) =
a

1 + ε
��� |ε| ≤ 5 · 10−t.

�2�
	� ���� �	$	� �,���A! ���
 gl(a ∗ b) = (a ∗ b)/(1 + ε) ��� |ε| ≤ 5 · 10−t �J�
���	 ����
�	����
	� @?	������	� ∗ = +� −� /�!

�� a� b� c �	�	� ;	��6������
�	� ��� N 2	�������	��	� 
���	� %	� D���� ��%
0 < a� b� c < 1� 2�� '��%�6� a ∗ b �	� ��	 ����� 	�6�C��" L� a · b ���% 10−N/2
�%%�	��� %����
 �	�%	� �n+1!7�	 ��% %�	 ����	�%	� 2	�������	��	� �	��	����	��
�! ��� �	$	 	��	 1�
���6	 �J�

˛

˛(a ∗ b) ∗ c− abc
˛

˛ ���
$! I� ��	��	�	 +��
	��	� %	� N7�	� 1�	��	 6���	� ���
 (a ∗ b) ∗ c ��% a ∗ (b ∗ c)

���	���
	�%	�O
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4� �	� %	� (�	��?��6�$	�	�
���� ���
Pn

i=1 aj 6��� 	�� $	��	$�� �����	� �	�����	�
;	
�	� �����	�	�� %	� 9	%��
 $	��
�C�6� $�	�$�� ����� ���	 aj %�� ��	��
	 ����	�7
�
	� 
�$	�� ��� �	��	 ���	� �	����
�C������� ��� (��	%	�� 
�
	�	� @�%����
	��	 ���$	 1�
���6	 �J� �
� 
	��

 � 2�	 ����	�%	� ���%�J�6	 ����	� �� ���	����� �	�%	�� %��� �
�	 ����	�����
�������� ���%"

1

1 + 2x
− 1 − x

1 + x
�J� |x| 
 1,

r

x+
1

x
−
r

x− 1

x
�J� x� 1,

1 − cos x

x
�J� x �= 0, |x| 
 1.

>� ;J� %�	 ����	����� %	� ;��6���� arcsin y �� t7��	����	� %	�����	� (�	��?��6�7
����
�	��6 ��	
	 	�� '������� ��� �	��J����� %�� �J� |y| ≤ 1 %	� ;��6�����7
�	�� ��� 	��	� �	�����	� ;	
�	� ε ��	�	��� ��$	� |ε| ≤ 5 · 10−t ���� +���?�	�
	�%
%	� �%	����C�

arctan x = arcsin
x√

1 + x2

6����	 %�	�	� '������� ���
 ��� ����	����� ��� arctan x 	���	�	��� �	�%	��
��� ���	����
	 %���
 	��	 �$��
C����� %	� �	�����	� ;	
�	��� �J� �	��
	 #	��	
x %�	�	 �	�
�%	 arctan �� $	�	�
�	�� �������� ����

A� L� �	�	$	�	� z 6��� tan z/2 ����	�� %	� ;���	�

tan
z

2
= ±

„

1 − cos z

1 + cos z

«1/2

$	�	�
�	� �	�%	�� ��� %�	 ����	����� %�	�	� ;���	� �J� z ≈ 0 ��% z ≈ π/2
��������O (	�	$	�	������ �	$	 ��� ��������	 �	�
�%	� ���

.� +� ���� 	�� �	���
�	� ��� �	�	�
���� %	� ;��6����

f(ϕ, kc) :=
1

p

cos2 ϕ+ k2
c sin2 ϕ

�J� 0 ≤ ϕ ≤ π/2� 0 < kc ≤ 1 ���	�	$	� �	�%	�� 2�	 �	�
�%	

k2 := 1 − k2
c , f(ϕ, kc) :=

1
p

1 − k2 sin2 ϕ
,

�	��	�%	� %�	 ����	����� ��� cosϕ ��% ��� ����� ��
�	��	�� ��� �	���	��
	
%�	�	 �	�
�%	 ��� %	� %��	6�	� ����	����� %	� �	�	$	�	� ���%���6� �J�
f(ϕ, kc) �� 0��$���6 ��� %�	 (�������6	���

3� ;J� %�	 ���	��	 ;��6���� f(x) := a + b · x ��� a �= 0� b �= 0 ���� %�	 	���	
�$�	����� f ′(0) = b ��� 0���	 %	� 2�=	�	��	�����	�

Dhf(0) =
f(h) − f(−h)

2h

�� %���	� (�	��?��6�����
�	��6 $	�	�
�	� �	�%	�� 2�$	� �	�	� a ��% b �	�	$	�	
(�	��?��6���
�	�� h �	� 	��	 '��	�� ��� 2� �� %��� %�	 �����?��6����� ��� h ��%
%�	 2������� %���
 2h 	H�6� ����	�J
�� �	�%	�� ��� �	$	 	��	 1�
���6	 �J� %	�
�	�����	� ;	
�	� ��� Dhf(0) ��� #�	 �	�
C�� ���
 %�	�	 1�
���6	 �J� h→ 0O
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-� 2�	 M��%�������	� ±(u+ iυ) 	��	� 6��?�	H	� L�
� x+ iy ��� y �= 0 6��� ���

%	� ;���	��

u = ±
s

x+
p

x2 + y2

2

υ =
y

2u

$	�	�
�	� �	�%	�� ��� �	���	��
	 %�	 ;C��	 x ≥ 0 ��% x < 0 �� 0��$���6
��� (�������6	�� ��% C�%	�	 %�	 ;���	�� �����	������ �$� �� ��	 �������� ��
���
	��

,�� L� %	� �	���	��	� x1� � � � � xn ���� 	�� 1�
C���	�� S2 �J� %�	 ������� $	�	�
�	�
�	�%	�� #	��
	 %	� ;���	��

S2 =
1

n− 1

 

n
X

i=1

x2
i − nx̄2

!

,

S2 =
1

n− 1

n
X

i=1

(xi − x̄)2 mit x̄ :=
1

n

n
X

i=1

xi

��� ���	����
 ���$��	�O
,,� 2�	 D�	S��	��	� ar� br r = 0, . . . , n� �	�	� �J� �	��	� x ��	 ����� ���	����%	�

�	�6�J?��"

bn := an,

br := xbr+1 + ar, r = n− 1, n− 2, . . . , 0.
�∗!

�! ��� �	��	� %��� �J� %�	 '��<���	

A(z) :=
n
X

r=0

arz
r, B(z) :=

n
X

r=1

brz
r−1

����"
A(z) = (z − x) ·B(z) + b0.

$! A(x) = b0 ���� ���
 %	� E	6������ (∗) �J� �	��	� x �� (�	��?��6�����
�	��6
$	�	�
�	� �	�%	�� %�� E	������ �	� b′0� ��� �	��	 ���	� �	��	�%��� %	�
;���	�� ����� ����� ,!

gl(u+ υ) =
u+ υ

1 + σ
, |σ| ≤ eps,

gl(u · υ) =
u · υ
1 + π

, |π| ≤ eps,

%��� �J� b′0 %�	 �$��
C�����
˛

˛A(x) − b′0
˛

˛ ≤ eps

1 − eps

`

2e0 − |b′0|
´

����� �� e0 %���
 ����	�%	 E	6������ �	����	� ���%"

en := |an|/2,
er := |x|ar+1 + |b′r|, r = n− 1, n− 2, . . . , 0.
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ˆ

���/���* ���
b′n := an,

��%

pr := gl(xb′r+1) =
xb′r+1

1 + πr+1
,

br := gl(pr + ar) =
pr + ar

1 + σr
= xb′r+1 + ar + δr

�	��	 ��� ���C�
�� �J� r = n− 1, n− 2, . . . , 0

δr = −xb′r+1
πr+1

1 + πr+1
− σrb

′
r,

�	��	 %���� b′0 =
Pn

k=0(ak + δk)xk� δn := 0� ��% ��
C��	
Pn

0 |δk||x|k �$�
˜

&�	��
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��	�� �

���	�� ;�)� �,-. !" &��?��������� ���?
� ��% ����%��� 	����� 1��� *� /��	��
����� ��� 3.T-A�

���	�� ;�)�� 0	��
��%� *�� 1��	����� D�� 1��	�� E� �,-A>!" 
������ .��	������%���
1��������" B	�$�	��

+%	����� �� �,--.!" B
	 ���
	������ �� �
	 '	����� %������� $��� 1��� E	��

�� > TA.�

(��%$	��� 2� �,--,!" #
�� 	�	�< ���?��	� ���	����� �
���% 6��� �$��� 
������7
?���� ����
�	���� �&� &��?��� 1���� 	
� >T 3�

(��%$	��� 2� ����4!" &��?��	� ����
�	���� �??	�%�H 0 ��" 0	��	��<� *�)�� '���	�7
���� 2��� #��$���� ���	��������* � 7���������2� �$$����	� 4�% +%������ 1��
���	�� &�" ������ D��������

0	������ '� �,-A4!" ����� ���$�%����� ��� ��������� 
��	���� /	� 5��6" #��	<�

0��
��� /�*� �����!" �������� ��� ��������� �� ��������� ��%����	��� ��% +%������
'
���%	�?
��" 1����

D���
� 2�+� �,--.!" !	� ��� �� #��$���� ���%������%8 5��8 &8 �������������
��%����	��� 4�% +%������ E	�%���� ��" �%%����7#	��	<�

/	������ *� ���� (��%��	��� 0�0� �,- .!" /��	����� ���	����� �� ������	�� �����
��	�� ���
� 1��� �
� ,��,7,�--�

@�	����� ��)� ����,!" ��������� #��$����% /��	 +��� �������% ����� ����	������
'
���%	�?
��" 1����

E�%	���
	�� 0��� �,- 3!" @� �
	 ������������ �� 	����� �� ?���	��	� �� ���	�������
�� 
��
7�?		% ����������� ���
��	�� '���		%���� �� � �<�?����� �� ����	7����	
%������ ����������� ���
��	�<� ���� &��?��� )�$��� 0�����% I���� �
� ,.AT,3>�

1���$�����
� *��� �,-AA!" ��������� 
��	�������� ��������� A�
 +%������ �����7
���	" B
	 *�
�� 0�?6��� '�	���

1�	�$	��� '�0� �,-. !" �������% ����� #��$�������� +���	���% &��=�� /*" '�	����	
0����



4A , ;	
�	�����<�	

#��6������ *�0� �,-A�!" +���� ����<��� �� 
������7?���� ���?�������� /��	�� ���
�
	� �,-T4 ��

#��6������ *�0� �,-A-!" .�����%���	���� �	����70	�%	�$	��" 1?����	��

#��6������ *�0� �,-- !" .������% ������ �� ��%������ ���������� ���	���� /5"
2��	��

#��6������ *�0� �,-33!" !	� ��%������ ��%��2���� �������� '�?	�$��6 +%������
@H���%" @H���% I���	����< '�	���


